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LIFE SCIENCE 

LSE-10 : ANIMAL DIVERSITY-II 

Time : 3 hours 	 Maximum Marks : 75 

Note : Question no. 1 is compulsory. Attempt any six 

questions from. Q. No. 2 to 8. Draw diagrams wherever 
necessary. 

1. 	(a) Define any five of the following : 	 5 
(i) Osteoderm. 
(ii) Internal respiration 
(iii) Monogamy 
(iv) Bipedal 
(v) Membrane bone 
(vi) Anapsida 

(b) State the location and function of the 	6 
following : 
(i) Seminal vesicle 
(ii) Meninges 
(iii) Neuromast 
(iv) Islet of Langerhans 
(v) Operculum 
(vi) Keratinocytes 
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(c) Match the following : 	 4 

Column -I 

(i) Arrector pilli muscle 

(ii) Calcitonin 

(iii) Auditary 

(iv) Dipnoi 

Column - II 

(A) Ear 

(B) Hair 

(C) Parathyroid 

(D) Lungfish 

	

2. 	(a) Explain the structure of mammalian skin. 	5 

Draw a well labelled diagram of 

mammalian skin. 
(b) Describe the different accessory respiratory 

	
5 

organs in fishes. 

	

3. 	Differentiate between the following pairs 10 

(any four) : 

(a) Somatic arteries and Visceral arteries 

(b) Rodentia and Lagomorpha 

(c) Amniota and Anamniota 

(d) Hyostyly and Autostyly 

(e) Cryptic colouration and Warning 

colouration 

	

4. 	(a) List the ovarian hormones and write their 	5 

functions 
(b) Describe the structure of spinal cord 	5 

	

5. 	Write short notes on the following : 

(a) Urochordata. 	 5 

(b) Osmoregulation in fishes. 	 5 
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6. (a) Draw a well labelled diagram of 5 
mammalian eye. 

(b) Discuss the different specialised teeth in 	5 
mammals. 

7. (a) Write the adaptations of birds for the aerial 	5 
life. 

(b) Briefly explain the defence mechanisms of 	5 
the different vertebrates. 

8. (a) Discuss the succession of kidneys in 	6 
vertebrates. 

(b) List the different components of blood. 	4 
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